10th Maths Model Question Paper 2024
&MILILY:- 1/ PART-1

(i) M6 H G| QN6UTEHS EhSHGSLD ONenL IeNSH&H6LD. 14x1-14

(11) QEBMTESSLIULL BT6o1E lenLSaileL &L eJMLemL Ul 6)6mL_UTl65)60T
CaIHesH S GMUIL L6 allemLuNeneTu|b CFI&HS] 6T(LS6YLD.

Note:

(1) Answer all the questions.

(il) Choose the most appropriate answer from the given four alternatives and write the option
code and the corresponding answer.



A={L 2}, B=(1 2, 3,4}, C=[5, 6} wpmid D=|5, 6, 7, 8] erafds £3yp GerHésy
LI ane SaHer eTgl STlwmen & mm 7

(=) (AxO) c (BxD) (<) BxD) = (AxO)

(@) (AxB) < (AxD) (F) DxA)c(BxA)

lEA={1,2}, B= |1, 2 3, 4], C={3, 6} and D =[5, &, 7, 8), then state which of the following
statement is bue 7

() (AxC) = (BxD) B (BxD)c(Ax0)

) (AxBc(AxD) {d) [DxA)c (BxA)

fix)=x—x ereflds, fix—1)-flz+1)=

(==4) 4x (c24)2—22 (@) 2—dx (/) dx-2
Let f(x)=x"—x, then fix—1)—fiz+1)is:

fa} dx (b 2—-2x £y 2-—dx (djy dx-2

whafly e aEhsd paerg Geoomsl LwaLGsd. aps Was pogefls
Sengeng b 9 - oy d sumSann Curg den smb Lélsar

(<=4} 0.1, 8 (=23) 1. 4, 8 (&) 0,13 (/) 1,35

Using Euclid’s diviion lemma, if the cube of any positive integer is divided by 49, then
the possible remainders are ;

(@) 0,18 (M 148 © 01,3 (d) 135



3 EELFRTEY
A=2% nfmh B=2644+2609 4 324 +2" greng GlErH&s0 Ul Hdarg.
Hlsmaummeu ameupiley e £ @menin 7

(=) B -spemm A -gp el 20 syl

(==4) A wpmub B s

(@) B -swengl A-g el 1 oiflsn

(/) A -myems B -m el 1 mflsn

Lf A =265 and Bw 2644 263 262 ) oo + 2, which of the following is true 7

(a) Bis 2™ more than A

(b) A and B are equal

(€) B islarger than A by 1

(d} A s larger than B by 1

P e

[24) a—b {«2)a+h

(@) a*-b? (/) 1
at b

(@) a—b (t) a+bhb

() a*-b° (dy 1



3562 (NS) 4

6.

g Hyd yeefludian, Sleng Bre wrhy el :

(<2q) =ymE 2yam] (<=4} apenarefill =yewtl
(@) Bpe osewfl (FF) (Bl ouanfl
Transpose of & column matrix is :

[}  wnit malrix (b diagonal malrix

[} column matrix {d) row matrix

ALMN -6 ZL= 60°, A = 50°. Gunguih ALMN ~ APQR erafléd <R -6 i -

(1) a0° (<) 70° (@) 3o (m) 110°
Im ALMMN, 2L = 60F, «ng= 5o°. If ALMN = APOR, then the valus of £B is:
(a) 40° B 70° €y 3 iy 1107

ul_#d} m.dm‘:alrrgj O -gneu RN TS EEram aul Lg,@sm P -a1 lﬂg,rr@fﬁﬁn‘@
PR eraflah, #POQ Gpang :
P E

-

[<=1) 12" {9, ] 100° (&) 110* (rF) 90°
I the Figure, if PR s tangent b the corcle at P and O s the centre of the circle, then
PO 15

P E.

(@)  120° B 100 [©  110° ) 90



10,

11.

r=11 grenrd GarfPisiu’ s CrraCsmie dé FOaTUmLTag) :
(e24) x - uF5EE Eanawr

() -conbrmdis Ghanamr

() =spalcjarat auglsGrdann

(/) (0, 11) - eremy yyaredl auyfl#Qedipn

The straight line gven by the equation y =11 is :

(a) Parallel to r-axis

b1 Parallel to axis

[c) Passing through the origin
(d) Passing through the point (0, 11)

tan @ + cot @ = 2 graflé) tan® 0+ cot® B -aim WL :
(=)0 {==) 1 (&) 2 {m) 4
If ta 8 + cot @ = 2, then the value of &n® 8 +cot 0 s ;

(a) o b 1 € 2 dy 4

24 Gsab = wgapb, 6 el spynb o s seflweiresemrd el
g subBenar g Agull Gemamwors wrpdlarrea, GCarengilsr Jgmb

{c2q) 24 G (<2} 12 Qaifl, (@) & Qsaf (/) 48 Gsaf.

A child reshapes a cone made up of clay of height 24 cmn and radius 6 an into a sphere,
then the radius ot sphere is :

[a) 24 cm M 12 em £} Hem Iy 48 cm

| mlins / Turn over
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14.

Iy SAEUESAT ), TLETTET G GEmeTULHE 2 RESEULL T ry NS ST TP 1L
8 ;o Garar LSS s EsOUHADE srafld ry

[2)12:1 {c24)1:2 (@) 4:1 (FF] 1:4

A spherical ball of radius vy units is melted & make & new identical balls each of radius
ty umits, Then Fyity is !

(@) 2:1 b 1:2 ) 411 {d 1-4

100 mreyy Yareflsefiar opmefl 40 wimud Sl elassin 3 erafla o asmmisstar
U EEE SnlfHaurens) -
{24 40000 {==4,) 160900 (&) 160000 (=] 30000

The mean of 100 cbservations is 40 and their standard deviation s 3. The sum of
squares of all deviations is:

(a) 40000 (bl 160900 ©) 160000 (d) 30000

SprdlQ eipsRSESET ja, boe, .., 2) 1S mEES @ PSS Fuoe Tl
apenpia Gaiey Qain'LBARS. SBs T(Esl * -45 (phamsy suphsibsaii
RIS @R LS ST ;El.sgg;a;m :

(=) T3 (28] 5 @) > () o

If a letter is chosen at random from the English alphabets |a, b, c, ..., z]. then the
prabability that the letters chosen precedes T, is ¢

12
@) 13 ib)

82|

2
i) ) 5

-
f...-l""



Lygl - L1/ PART - 11

EluY : eenauGwgun 10 ol emisemag elem wallssann. dilarr aam 28 -6
&L mwnsrs: aflen wiatldsea b, 1k =20

Mote ; Answer any 10 questions. Cuestion Mo, 28 is compulsory.,

15. AxB=[3,2) (3 4) (5 2) (5, 4)) eraflés, A ndHmud B -m srans.

IF AxB=[(3 2) (3 4 (5 2) (5. 4)), then find A and B.

16, f:N =N arann Sty fim)=m”+m+3 arar cuanmuymSsi’ | Wel Sefl qpe s,
GETDTRT FTTL eTamk STLHE.

Show that the function f: N — N defined by f(m)=nv + m+ 3 is one-one function.

17.  m whmen n @ ererser erafla, aBS m -an wd i wansE 20 x5 ey ere
5 ereinm [Elevbadensd Claran(d pgub ?

If m, n are natural numbers, for what vahes of m, dees 29 25M end in5 7

n?; T Epiilenh er s
18, g derod aflesdda HQurg emiy a, = 2

> ; nogm Eircan eram
sTaflel 3 -eugl Wwmd 4 -eugl & D0 LSHETE & T 5.
n” ifn is odd

Find the 3™ and 4™ terms of a sequence, if a, = 2 ;
Tifn:isewn

| @mlis / Turn over
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19.

12422+ 3%+ o + 107 <@ whliy srens. M8 mie 45 6T Lo+ 2 -am
oI ST,

Find the value of 124224 3 .. 4 102 and hence deduce 22 + 425624 22,

92+ Iy + 4 =0 ereny [EHl g FaneTm’ g ApewkisaT Gl poeh s enatle
k - wdlliy srars.
Find the value of k for which the equation 9x° + 3kxy =4 =0 has real and equal roots,

¢ _a)
) .u.l ~-45 2 | erefld — A -ulilelr Hengdlred imhny ojetlenss smans.
|L Vi -5

[ F -3
[FA=|-+3 2 | then find the transpose of —A.
| B 5

lamauimeuarsu ey AABC -ulley AD parg, LA -ulilar Emewken w sy @0nr
sten Condlésma) b,

AB=5Gsif, AC=10 Qe BD =15 Qo inmed CD=35 Qe.ib.

Check whether AD is bisector of £A of AABC in the following.
AB=5com, AC=10 cm, BD=1.5 cm and CD=335 cm.

(4, 10) whmbd (14, —6) 8w yaraflsmean Famand b CHiEGarligss
FMUGNHEUE KT,

Find the slope of a ling joining the points (14, 10} and (14, - 6).



Er;lﬂl' oz !+Rilﬂnﬁecﬂ—tanﬂ-
Selamah i

1+ sinf
Prove = st + lanh

| — minfl

s CGemargflean Lpliugliy 154 £.8. eraflld sigar el b srans.

Find the diameter of a sphere whose surface area is 134 m=.

g Bamn senpsGeragfar g Ouroy 1386 sif aafld =g
yrniuglnSenans srea.

If the base area of a hemispherical solid is 1386 sg. metres, then find its total surface

Arasa.

BpESTZEID FraSgnss aiFs opob ofFrs AE(paes Smams.
&3, 89, 98, 125, 79, 106, 117, o8,

Find the range and cocfficient of range of the data,

B3, B9, 98, 125, 79, 106, 117, 68,

gf earafLpp e maerdilar e wrn, e O uyp wpon Ceeliyp g7k sdr
apenmizu 9 Qsaf, 3 Qs B wpmib 5 Gsif Symb. £ maaTew o mHarEsS
Cgenauiiu G @b san erellanens &rans.

Find the volume of the iron used to make a hollow cylinder of height % cm and whaose
internal and external radii ere 3 cm and 5 an respectively.

| Slaplis / Tum over



T | 10
L - LI/ PART - 111

@iy @ eemeuBuennn 10 ol amédseysm sfle wallfsan. adlar earan 42 -GS
&L nwnons eflenwiaflsse . 10x5 =50

Mote : Answer any 10 questions. Cuestion Mo, 42 is compulsaory.
29, A ereug 8 -pg &Sl @menmeuran Bl sTamEatlcn Sam,
B eremigy 8 -mm el menmeuren s erehrmaticn semri,

whmn C eaug EriedusL usr darsalar samb erafldo,
(ArB) xC = (A xCin(Bx C) sHurr&saib.
Let A='The set of all natural numbers less than 8

B= The zat of all prime numbers less than &

C=The set of even prime mumber. Verify that (ArnB) = C=({A = C)n(B x C).

0, A=|L234wppbB = (2,58 11, 14) e GH Samusa adm. [ A B
argn Ly ) =% —1 erans Cemhss oo’ Baarg, Essmmblanar,
[ sby&Edlucib
({) =l aianemr
(i) euflens Comgsailen semb

(iv) ®JEnLILLD
pEuebpme: &0l se)b.

let A= [L2 % 4fand B = [2 5 8 11, 14] be two sets, Let f © A = B be a function
given by fix)=3xr—1. Represent this function :

() by Amow diagram

(i} ima table form

() asaset of ordered pairs
(fw) ima graphical form



31.

11 3562 (NS)

100 ~&mpd 1000 &b Gen Cw 11 g6 aguhn mamargs Eud
eTanTmaflen SRS STas,

Find the sum of all natural numbers between 100 and 1000 which are divisible by 11,

fiks: dr+2y—5=13
W+ — 2= =13
Tx + 5y — 3k =26
Solwve : fr + 2y — 5z = 13
I+ dy -2 =13

4 oy — 3

Il
g

Slemeumin LaamOLE Caraesaiian . Qura:. srems.
Aty -3, ¥ +a2-5r+3

Find the GCD of the polynomials, x*+3'—x—3 and & +27 52 +3.

g L s gy R

= S + & - e e Carepeuuilen eufdsepeD SMeRTsE.
¥ 10z 10y _1_1'2

Find the square root of the expression, F—T EF—T—I—E

| Emiligs / Turn over
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{2 =1}

1 ; i ; 3t
A=, 4 q|oDmbBE=|-1 4 J erafllel (AB)T=BTAT aréruengs sfluriss.
I.n i ﬂ 2
T 2=
LE-"*'L" :1 1}3“'15'{-1 4}slmw+hath}T=Bml.
2 o

Camewr Elm swdan’ g Cshnsflanar erpsl dlmeys.

State and prove Angle Bisector theoremn.

(=4, =20 (-3 K, (3, -2 wiped 2, 3) pdueienn perensarsd Clerasm_
ErDETESlen urliuere) 28 F e edt eraflar k -ulldr iy srears.

Find the value of k. if the area of a quadrilateral is 28 sq. units, whose vertices are
(-4, —2), (-3, K, 3, —2) and (2 3).

60 b, e wgppdter Caryrider e sl miy Lehigisrs warar g
eflandsg sbugden o i whpd Hgdldr Flmsss Coramriisar e Bu
B* wpmin 60° eaild, dlesms sbusdda PwLTEEES ETEES
(an 38° = 0.7813, /3 = 1.732)

From the top of o tower 60 m high, the angles of depressson of the top and bottom of a
vertical lamp post are observed to be 38° and 60° respectively. Find the height of the

lamp post. (tan 38° = 07813, 3 = 1.732)



11.

13 et

el 20 Gl o drer @f o meneT elpeud GamaNNe Heuanaruliss 9 Qs
e wipiEne B o drerg. apmb 5 G50 nhoeb o wnb 4 Qe o e w gir S
et mm = Gers = menen ffld apppenowrs appan Gursy gouibh Bl
B LITEnEl & Hamrhd (.

A cylindrical glass with diameter 20 cm has water to a height of @ cm. A small

non-hollow cylindrical metal of radius 5 cm and height 4 cm is immersed in it
comphetely, Calculabe the rose of water in the glass,

7 Gumysafid qm Afsb0sl S aBis gl L fksdr ppenpG 70, BO, 60, 50,
40, 90, 95, £ eSlavdsih srens.

The scores of a cricketer in 7 matches are 70, 81, 60, 50, #) 9l 95, Find the standard
deviation,

Bran® frrer LsmL s papurs gy Cergdd el L OuBEns
0 Gy usen sellguh @Gy wpawdliny den s,
({) ppsndigsafle CumEshueer Lar aaramss Sl &5,
(i) ApSWELESTET SBFd LET TETaNTTER &en &5,
(iv) ppswdiysetesr &BEd 1 -5 EimEs,
s fu flspsflsafien Bapssammad srems.
Two unbissed dice are rolled once. Find the probability of getting :
() a doublet (equal numbers on both dice)
{ii)  the product as a prime number
(iii) the sum as a prime number

(iv) the sum as 1

[ Smiligs [ Turn over



S 14

42, AB eram Cri&Gsnd mw sefssma A wipd B ydaefisafla el Béng.
AB -ar mHOueTat (2 3) erafldr AB - FOEUITL 1y snend &7 TS,
A straight line AB cuts the co-ordinate axes at A and B, If the mid-podnt of ABis (2, 3),
find the equation of AB.

LSl - IV/PART - IV
Uy Spmengg) ol armssEnseEn sl watlssa) b, 2x8=16
Mote : Answer the following questions.
43, [ Gerfasiu’ e apatsrand ABC -Wildr i uismsaila dlflgh % T
SERLOLOTT G &g Cargs wpaGETaEnD cuamrs, 'Iiélmﬂ-lﬁrﬂ:rﬂ!ﬂ E]

DDA
()5 Qeb. sgroparer eul L gfar enowEA S mEg 10 Gs.8. Glgranaedgarar
yeraluildl mEm el L SHDms GerhGer{Hsar e, Giogin
Glgr GEsrRsatlar fom s sankslfs.

s
2

(@) Construct a triangle similar to a given triangle ABC with its sides equal to

t
the corresponding sides of the triangle ABC, [3':35'-’ Lactor :]

=]

OR

(b} Draw wo tangents From a point which i 10 cm away from the contre of a drcle
of radius 5 cm.  Also measure the lengths of the tangents.



4.

15 = e
(=) 22— Bx+16=0 ereny Emund Swdrun_iped wafuh aanfhg firalld
FGTERLOEHLIE a1
SR
(p)y=222-3x—5 -dfilenr amyuULlh asrhsy N§@as LU B
2 dx b=l eren swebium g eoend Siksa)l.

(a) Graph the quadratic equation x* —8x+ 16=0 and state the nature of their

solufion.
OR

() Draw the graph of § =22 — 31 =8 and hence solve 202 —dx —f =100,

~olo-



